
Q 

µ.'(..~ ,k~o.~o.o 

••• J ~ ( ft ) -:: >-' t>-)C. 

~AY~~ 

l +- 4', , J 

i .... "°""'-~o. ~ ~ 

">---t :. - i >,- ... : i } 1'. '2. ~ ~ + A ni ).._ 1, - ~ - i fi' ' ~ ,· t:;°' \ 1 1':"\ 

I c. o 'l. 1 / 7 - 2 2 / Ai¡-:. - 1., - ~ ' I ,... &, ~ -t ~ ~ 1• 

~,,o 9-.. ~.l.,J c,.:.ó"' ~ J a.. <...o """1 o •. ( k., ~ ck f°' c:l-o, '- io. t" j ~ r> o c.M i_ , o..'< ~ ) 

~ ()(. ) ~ c.~ e.->c + e: "l.~~ 4- e~ l {11 fc-o/)l '; x. J J + ¿~ ex1-z. ~V\ l 4 >< ) 

c.,( 1 . - 1 ( t;, 

1 

1 
1 



'r- - ~ '------"-

- @ 

-:):) 

-e) 

'o) l2 ~~s-) 

~(_ >,.)~ '>,..,_-2>. + ~ --:::::> 

2. ±{ LJ- lot 
~ ... ~-: ___ , __ .., = i 

A~---- ~ o1v~ u.,.. o ~ k t Oo /\.,o ~ vw...o0iV\~ ~ \I~ ua wc:....:~~ 

ill\ ó4t. .\--e.,r -M i "' "- Ó,.O ~ { w r ~ ~~ ó ~ ~~ 'et f h e) -:.. Q,. ! x'1. e.)( l V X ~ ~ ?A « e~ 

h o v ~ -1 °'- ~ ~º~ ,._ ~ X '-4 X ... )( • \ ( I - I } 

r "' J 
-- ~ J . ~ "'"' 'j ~ ()() J -a t- º e z. f"' ""'~ '4._ 

.L..~o ~~t,.;."'l:~ "'-6 0 '1~ IM ·l.o. E.Oo 1 
,u,("" ~c:la. ,. 

jy' : o.i e xx-z. -4-"2.Q-1 X e..><-

~ "' ( )l ,_ ((_x 

.. 20 x ... 

l o. " e.)( -= 

~ "l.Q. .e )( {.-<. + 2.Q. ◄ {_ 1( : 

( fo1:!>J 

-'"- 2 ~X + l.\ JI e_ l{ ) - ¡_( °'.e {l(K "l.+ 10.-\ )(e,X) 

- ~ {_X +2.Q.-1{_)(' + q 1/t'. '( - 11 ~ 

e. l( ..:.") .2..0.."'-:. -1 

-~ 

+ Q..-4)( ~ 

~ 
~ )( 

),l., 

-e,) ~ l )( > : c1 e. v +- ~, x e.>< ~ .l. x. 1. t 1.. 

1. 

.. _____ _ 



<i) 

il 

- ~ -(-:; ~ e.><x.-e. ~ ~ -j )(. e, 1 )( -Jx - x1.. \ 'C',-0 ~ 

J.J. i l~) -= - - -::. ::. 

- - V\ ~·e ua "~ 'l e. '2. X. e. 'l X. 2... 
+-ov,.,..o.. 'f -\- ~ 

(f :. e,X.) c+o,3 ) °'"~ ~ 

1 

¡-
¡-

¡_ 

1 

1 

1 



C. ) ( l ~~5 ) 2\<1. ~ 1 J tS°)(~ -\-'j~ ><" 
tJ ~~; o •<- vO-IV"\'°' ~(~ lo. 

-=- ~(t,.~) : ~(-t.) 

LA.. to.. ~t..l'\ A. : 

'l \ 1 
X L1 LX) 

V 

A.XtJ\.I + 2.)('j' -\- 3 Xj
1 

+'j -:: X'l. 

~ 2.()('1. ~ll -t ~'-j') k '?, X 'ji + j ~ >(1. 

' 

l\ 

~ t J .,,_, 

(to 1 1) 

~ !º "n<,u,...--o) ~<.. t (__.~)-: e. 

._ 
k ~ ).._ ~ i ~l .\1 -=- 2~ - o -

-3 ~ ✓"- ~ >-1 '::. -i (_+ o,~J 
>,.. ( , 1. 

:. 

l\ 7',. ':. - ' 
'2.. 

}- t 

IL 



N.. \..w..., 3.:,,~ ) 

C.."4~' l. ""d~~~< ~f\.o..do-r : 

(.p W-0 J todo ''(. \"'t.~ ~ e 1 t "' 

u. J 

~y:. ~ ~ to"' A °'" .Je...h-<"""-\1\~,(' • 

L.t (fo ¡-<. f~ .w,k, .e-,~ J 

\ 'U: \1 A tt. 

:tf:. 1.Ae. i~::. ~ e. l__+- O¡ 'l ) 

'::O") 'it l-t: \ =-
e_ 1t -"- r 

-;:;') 't l~ ~ =-
-e,1i - ..\-

-t 
_t. 

(," 
(. ~e' (.., 'Z. 

,t s 
t 

~-=- ~ 

x1. 

(-iti,z) 



-t 
\)c. 1.4. ~.,L., e,~á - \.... ~,., s¿ ~ ~ -
No.\.-." t~ ta.. 4.C,.,, o,...c_-'.. ó V'- (\..O 

=e~ =- e j 

~~e: \'\,O ( ..._,.._ ....,.L.. l: C). ó. QJ.. 
1 

-::) l" t.! t 
1 

:u. 
l.>~o + l... ~ -e. 

-z. "2.. ?... 
, 

t+ 
f~ L 

'2 

!~ \ \ ~-~l 

-t 

\~~ 
t -;_ 

\ = 
vJ~ - - 1,t -,t - ?>i 

t:.' -
t. ,A - t - ~ e -:;:- e, "2. !. <l. 

T ::t,c 
'l. - {.. -1.. ~ - 4- ~ 

,_ l.. '2 
'2, (+ o1i) 

)vw~o 1 iº '( .f '~lo.. ·. 

~-~ 
-.! ~ 1 t - e 1, t 

=li. t- ~ 
e, 2 ("_ ~- j 'Zt 

J.J.. - - - "l. t ""i. 2. 

.. - - - e. ~ 

w y e. -•; 
~ j 'bt - i_ t.. 

'?, t 
(-+- º, 3 J - c. ::::. 

;e -- 3 

:-) ).J.. ~ l ~ \-=- - ~ ~ 
:, 

) t:. -4. t í 
- t X1 1.t 

) - t :,t. ) e~~ 
ít 

)J.~ 
- e. t. 1* 

-:.. - - e. e, ~ -=. ~ 'Z. e,-Z. 

\N 
""2... =- {.. -

-t -1t 

S" (+ º,3 ) ~-"Z.. 

.t t 
..U..1. l-t ) -:.. 1.. e.,_ 

-:;) -s .,, t - t 
~t l-1:.) ~ .u , l-1c) 'l , l -le \ -. .u , l-l I e¡, .,_ (-\:) '° - ~ e. e.. 

::. - _!_e..1. -t + .,_ e.1-t: _-~ "'e 'l-4:-

:, s '1. ~ 

~ 
t., 1.t 

':t;,,t~) .... 
1~ 

,e "l~ - t - -b 

i lk) -:. 
~ e" e.. +- c. ,. t.. ""i 

~ 

X 'l C-t x-" C1. t X. 
_J.. 

J lX. ~ ~ 't + 't. 

-
'\ ~ 

U) \A C.1 1 c. "'l. t.kV- . 

(~o,? ) 



⑫ a)

(D - I) o(xD +31) y
(D - I).(xy' +3y) P
D(xy) +

3y1
- xy' - by

11

y' +

xy
+by - xy1 - 3y

(x D+31) ·(D - I)y I No son iguales
(xD +31) · (y-y
xy" +by' - xy" - 34 ↑P

b) indical

(xD +31) y
=z

=>(D - I)z =0

z
-

z,
=0

z
=

1 S 1p

It =f1ax
(n(z)

=

x + C

z
=ek

Reemplazando!

(xD +31) y
=ek

xy' +zy =etk ↳integrante
y' +3] =

2x).xxxp)(2) =exp(3(n(x) =23
R

-y' +3yz =ekE

(xy)
=
eket



(xy) =exe //

Sky)=KSex
+By =k)e* 52

*Sext =ex) +-20 +2) +a
P

+iy =ke*(+2 - 2x +2) + I
XY

y
=ket(x2 - 2x +2) -x3

d) (D - I) (x) +31) y
=ex =D NOSE PUEDEUSAR

ANVLADOR.

(D - I) z =ex

(xD +317y
=

z

=>z-z =ex

(ez) =1

z =ex+ec (14)(xD +31)
y

=e x
+etc

xy
+

3y
=exx +ec

y
-
z

=ex +/.
(yz)=exx +exc/

S

yz3
=

Jetz +2 jez t C

y
=

Ejexx3+ex+e



y =Esjexe+ex +
y

=(ex(x3
- 3x2 +6x - b) +

(er(22 -2x +2) +Es p



https://v3.camscanner.com/user/download


https://v3.camscanner.com/user/download


https://v3.camscanner.com/user/download

